
SAP ABAP table CRMC_SRV_CYCLE_D {Service Cycle Interval}

CRMC_SRV_CYCLE_D

CLIENT [CLNT (3)]

CYCLE_KEY [CHAR (10)]

CYCLE_STEP [NUMC (10)]

UNIT [CHAR (12)]

COUNTER_ATTR [CHAR (20)]

CRMC_MPK_ATTR

CLIENT [CLNT (3)]

ATTRIBUTE [CHAR (20)]
 CRMC_SRV_CYCLE_D-COUNTER_ATTR = CRMC_MPK_ATTR-ATTRIBUTE 

0..N

0..N
CRMC_SRV_CYCLE_P

CLIENT [CLNT (3)]

CYCLE_KEY [CHAR (10)]

 CRMC_SRV_CYCLE_D-CYCLE_KEY = CRMC_SRV_CYCLE_P-CYCLE_KEY 
1..N1

TIMECUUT

CLIENT [CLNT (3)]

NAME_UNIT [CHAR (12)]

 CRMC_SRV_CYCLE_D-UNIT = TIMECUUT-NAME_UNIT 

0..N

1


